Planning Guide: Percents

Instructional Strategies
Note: These examples also illustrate how simple drawings can help with reasoning.
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How much will a coat cost on sale?










This year, 20 more students rode the bus than last year.

If that is a 10% increase, how many rode the bus last year?



10%



20
20
20
20
20
20
20
20
20
20



Examples adapted from John A. Van de Walle, LouAnn H. Lovin, Teaching Student-Centered Mathematics: Grades 5–8, 1e (p. 122) Person Education. Reprinted by permission of the publisher.































10% is a tenth. 10 × 20 is 200 students. So last year there were 200. (This year there are 220 students on the bus.)








Bus Report


20 more riders





A 10% increase





Off





80%





20% is � EMBED Equation.DSMT4  ���.


Cut $80 into 5 parts.


Each one is 16.


That leaves � EMBED Equation.DSMT4  ���.


4 × 16 = 64.


$64.








COATS








$80.00





20% OFF!
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